
Quiz 3: EE472/672:Digital Control, Fall2014

Problem 1 (10 Points) For a discrete time system

x(k + 1) = ax(k) + u(k)

y(k) = cx(k)

prove that

Sy

a
=

av(k)

x(k)

Problem 2 (15 Points) For the system shown in the figure, find its (a) type, (b) position error constant
Kp, (c) velocity error constant Kv, (d) acceleration error constant, and find the steady state error of the
system to (e) unit step input, (f) unit ramp input, and (g) unit parabolic input.

Dr. Pushkin Kachroo, Lincy Professor: pushkin@unlv.edu http://faculty.unlv.edu/pushkin


